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Topic:- English
1)
Question Stimulus :-

Fill in the blank with the correct option.

Everyone ___ save the natural resources of the earth.
* must
* might
e could
* dare
Correct Answer :-must
2)
Question Stimulus :-

Fill in the blank with the correct option.

you tell me the way to the station please?
e Might
® Must
* May
e Could
Correct Answer :-Could
3)
Question Stimulus :-

Fill in the blank with the correct option.

You take an umbrella in case it rains.

e should



* might

* could

* dare
Correct Answer :-should
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

There is a danger of the conflict spreading
o of
* for
* from
® across
Correct Answer :-across
5)

Question Stimulus :-

Fill in the blank with the correct preposition.

the whole of Central Africa.

There was a small table the bed, on which there was a book.

* into

® in

* besides

® beside
Correct Answer :-beside
6)

Question Stimulus :-

Fill in the blank with the correct preposition.



The children squealed in delight when they saw all the Presents the Christmas
tree.

® in

o of

e from

®* under
Correct Answer :-under
7)
Question Stimulus :-

Fill in the blank with the correct prepositions.

Sheran_______ the police station______ help.
e for, for
* into, by
e towards, for
e besides, for
Correct Answer :-towards, for
8)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* India has
®* never attack on
®* any country.
®* No Error
Correct Answer :-never attack on

9)



Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e David have been

e dialing your number

* since Thursday.

* No Error
Correct Answer :-David have been
10)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’'.

* A manis judged

* by his deeds,

e and not by his word.

® No Error
Correct Answer :-and not by his word.
11)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* My youngest son
* have been playing indoor games
® since morning.

® No Error



Correct Answer :-have been playing indoor games

12)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* Don't count

e your chicken

e before they're hatched.

* No Error
Correct Answer :-your chicken
13)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’'.

* The cows

* are

e economically useful.

* No Error
Correct Answer :-The cows
14)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If you had helped me,
e I would have

® definitely helped you.



® No Error
Correct Answer :-No Error
15)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

®* As soon as we will

e reach the hostel,

e we'll inform our parents.

®* No Error
Correct Answer :-As soon as we will
16)

Question Stimulus :-

Choose the grammatically correct sentence out of the given options.
e He parked an car in front of the bakery.
* He parked the car in front of the bakery.
* He park the car in front of the bakery.
e He parked car in front of the bakery.
Correct Answer :-He parked the car in front of the bakery.
17)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

His property was agreed to be disposed of by him.
* He agreed to dispose of his property.

* He has agreed to dispose of his property.



* He had agreed to dispose of his property.

* He agrees to dispose of his property.
Correct Answer :-He agreed to dispose of his property.
18)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

The winning novel was chosen by a panel of famous fiction writers.
* A panel of famous fiction writers is choosing the winning novel.
* A panel of famous fiction writers had chosen the winning novel.

* A panel of famous fiction writers were choosing the winning novel.

A panel of famous fiction writers chose the winning novel.
Correct Answer :-A panel of famous fiction writers chose the winning novel.
19)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

Why has the window pane been broken by you?

e Why had you broken the window pane?

* Why were you breaking the window pane?

* Why did you break the window pane?

e Why have you broken the window pane?
Correct Answer :-Why have you broken the window pane?
20)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.



Alex said, "I will be in Geneva on Monday".

¢ Alex said that he would be in Geneva on Monday.

e Alex said that he will be in Geneva on Monday.

* Alex said that he is going to be in Geneva on Monday.

* Alex said that he will be going to Geneva on Monday.
Correct Answer :-Alex said that he would be in Geneva on Monday.
21)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

“Katherine said, "I was walking along the street”.

e Katherine said that she was walking along the street.

e Katherine said that she had been walking along the street.

e Katherine said that she has been walking along the street.

e Katherine said that she had walked along the street.
Correct Answer :-Katherine said that she had been walking along the street.
22)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

“Sameer said to me, "Have you ever been to Mexico”?
* Sameer asked me if I have ever been to Mexico.
® Sameer asked me if I have been to Mexico.
® Sameer asked me if I had ever been to Mexico.

e Sameer asked me if I had been to Mexico.

Correct Answer :-Sameer asked me if I had ever been to Mexico.

23)



Question Stimulus :-
Fill in the blank with the correct option.

Politicians make many promises, but very ____ of them are implemented.
°* few
o little
* some
* afew
Correct Answer :-few
24)
Question Stimulus :-

Fill in the blank with the correct option.

He has sent his book to publishing companies.

°* few
* afew
* little
* the little
Correct Answer :-a few

25)
Question Stimulus :-
Fill in the blank with the correct option.

Thereis____ milk in my glass.
o little
* a little
* the little

e afew



Correct Answer :-a little

26)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

A penguin is a water bird that can't fly. It has webbed feet and wings that look like
flippers. It uses its wing flippers for underwater swimming. Many penguins live in the
icy waters in or near Antarctica. They seldom visit land except to raise their young
ones. Penguins have short legs and tall, torpedo-shaped, bodies. On land they are able
to stand upright, and because of their stature, they walk with a waddle. They may
appear awkward, but penguins actually walk about as fast as people. They also climb
rocky shores by hopping from rock to rock. Some penguins travel over ice and snow by
‘tobogganing’ sliding on their bellies. But penguins travel best by swimming, hour after
hour. There are 17 species of penguins, ranging in size from the largest emperor
penguin to the diminutive fairy penguin. Penguins will not cross warm ocean water;
therefore, they are all found in south of the equator. The Galapagos penguin lives in the
farthest north, near the equator in the cold waters around the islands of the same
name.

Penguins are popular around the world, primarily for their unusually upright, waddling
gait and (compared to other birds) lack of fear of humans. Their striking black-and-
white plumage is often likened to a tuxedo suit.

When do Penguins come on land?
* When they are hungry.
* When they have to bring up their children.
e When they have to migrate to a warmer place.
* None of the above.

Correct Answer :-When they have to bring up their children.

27)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

A penguin is a water bird that can't fly. It has webbed feet and wings that look like
flippers. It uses its wing flippers for underwater swimming. Many penguins live in the
icy waters in or near Antarctica. They seldom visit land except to raise their young
ones. Penguins have short legs and tall, torpedo-shaped, bodies. On land they are able
to stand upright, and because of their stature, they walk with a waddle. They may



appear awkward, but penguins actually walk about as fast as people. They also climb
rocky shores by hopping from rock to rock. Some penguins travel over ice and snow by
‘tobogganing’ sliding on their bellies. But penguins travel best by swimming, hour after
hour. There are 17 species of penguins, ranging in size from the largest emperor
penguin to the diminutive fairy penguin. Penguins will not cross warm ocean water;
therefore, they are all found in south of the equator. The Galapagos penguin lives in the
farthest north, near the equator in the cold waters around the islands of the same
name.

Penguins are popular around the world, primarily for their unusually upright, waddling
gait and (compared to other birds) lack of fear of humans. Their striking black-and-
white plumage is often likened to a tuxedo suit.

What does the expression ‘walk with a waddle' means?
e Walk with short steps and a clumsy swaying motion.
®* Run speedily with slim legs.
e Stand still at a place and move one’s head.

e None of the above.

Correct Answer :-Walk with short steps and a clumsy swaying motion.

28)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

A penguin is a water bird that can't fly. It has webbed feet and wings that look like
flippers. It uses its wing flippers for underwater swimming. Many penguins live in the
icy waters in or near Antarctica. They seldom visit land except to raise their young
ones. Penguins have short legs and tall, torpedo-shaped, bodies. On land they are able
to stand upright, and because of their stature, they walk with a waddle. They may
appear awkward, but penguins actually walk about as fast as people. They also climb
rocky shores by hopping from rock to rock. Some penguins travel over ice and snow by
‘tobogganing’ sliding on their bellies. But penguins travel best by swimming, hour after
hour. There are 17 species of penguins, ranging in size from the largest emperor
penguin to the diminutive fairy penguin. Penguins will not cross warm ocean water;
therefore, they are all found in south of the equator. The Galapagos penguin lives in the
farthest north, near the equator in the cold waters around the islands of the same
name.

Penguins are popular around the world, primarily for their unusually upright, waddling
gait and (compared to other birds) lack of fear of humans. Their striking black-and-
white plumage is often likened to a tuxedo suit.



Which word in the passage means ‘extremely or unusually small'?
* Webbed
* Diminutive
e Awkward

e Farthest

Correct Answer :-Diminutive

29)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

A penguin is a water bird that can't fly. It has webbed feet and wings that look like
flippers. It uses its wing flippers for underwater swimming. Many penguins live in the
icy waters in or near Antarctica. They seldom visit land except to raise their young
ones. Penguins have short legs and tall, torpedo-shaped, bodies. On land they are able
to stand upright, and because of their stature, they walk with a waddle. They may
appear awkward, but penguins actually walk about as fast as people. They also climb
rocky shores by hopping from rock to rock. Some penguins travel over ice and snow by
‘tobogganing’ sliding on their bellies. But penguins travel best by swimming, hour after
hour. There are 17 species of penguins, ranging in size from the largest emperor
penguin to the diminutive fairy penguin. Penguins will not cross warm ocean water;
therefore, they are all found in south of the equator. The Galapagos penguin lives in the
farthest north, near the equator in the cold waters around the islands of the same
name.

Penguins are popular around the world, primarily for their unusually upright, waddling
gait and (compared to other birds) lack of fear of humans. Their striking black-and-
white plumage is often likened to a tuxedo suit.

What is the meaning of the word ‘gait’?
®* Threshold
e Entrance
* Manner of walking
®* Speed
Correct Answer :-Manner of walking

30)



Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

A penguin is a water bird that can't fly. It has webbed feet and wings that look like
flippers. It uses its wing flippers for underwater swimming. Many penguins live in the
icy waters in or near Antarctica. They seldom visit land except to raise their young
ones. Penguins have short legs and tall, torpedo-shaped, bodies. On land they are able
to stand upright, and because of their stature, they walk with a waddle. They may
appear awkward, but penguins actually walk about as fast as people. They also climb
rocky shores by hopping from rock to rock. Some penguins travel over ice and snow by
‘tobogganing’ sliding on their bellies. But penguins travel best by swimming, hour after
hour. There are 17 species of penguins, ranging in size from the largest emperor
penguin to the diminutive fairy penguin. Penguins will not cross warm ocean water;
therefore, they are all found in south of the equator. The Galapagos penguin lives in the
farthest north, near the equator in the cold waters around the islands of the same
name.

Penguins are popular around the world, primarily for their unusually upright, waddling
gait and (compared to other birds) lack of fear of humans. Their striking black-and-
white plumage is often likened to a tuxedo suit.

What is the meaning of the word ‘plumage’?
e Covering of feathers
* A tall stature
* A swift body

e None of the above.

Correct Answer :-Covering of feathers

Topic:- Hindi
1)

Question Stimulus :-

aﬁ;%@amaﬁmﬂqﬁaiwm 7 fed T sgfawad u=Al & 9 e &1 3aq
|

HERTUN YTy g SHTa-sire AR-AR fihd 9, 3ot Tt ok =i ) Y@ A dsud ¢@d ¥, IReg
3211 37 AN BT 91 T8 7, iR 3% erefiFaryde s v8q @ Wity €, wife 3 wEa A
%mmﬁﬁmﬁaﬂmaﬁam% It g I A8 | TP 9K T A9A
ﬂﬁmm%auﬁu'sW|m%mmqﬁ$qm, "3 oORT fpar wera”
U 869 WR 1Y YT IR fed1, “ggl” 3= & formmrgelt & forg a8t w1 w't 1g 31 & fAzay
ng%ﬁwwwmﬁmmmm%ﬁwwwmmww
2 3R 3% AJArl ST Fd &, I MTH-TPR & ®1 A FA eI B TP | 3¢ WA fdar



BT AT T AT FRR He1, g™l ot IR a1al BT goa Jagrd g4 Wt 971 $fer yaa |
BT AT A1feq | gerRiierT it @1 i o S 3a-11 Jd T 3R Sifd Ui g8, S9®71 &Y sita
S ST HEaHY 3R ifaAY 8T, 99 sl AFMRI® Wdaadl 3R A YRdr & srRur| gl 39%
JUPTA HRASN B! SfAY, St shaaHR faardt Jrenst & 14 Feyad a4 I8, forelv emd-
TaAdr @t 3R FH & fear iR ofd # 3y Srueit g3t nifa 1 o sy @Y g3 iR TaRTs
I TE BT & IMHT W RR &t ?, a8 g ok od-87 & w3 +ff 3y ok S0 vear @ o
g}?ﬁm%aﬁ?mmélmmwﬁwww%aﬁﬁﬁmmﬁl

[ 3 S9! TeTadT B! ATET WR IBIH U8 91 WIPR 71 Dt 3R T U= UfauT &1 JeRI
APT AP U UIS HHY & S feor@e @@l Fud &1 HBu1 e RR 9§ Iar faan

HERTUN yary Rig &1 ufer ok 9= 4@ & dsud 3, v +ft 3= for @n 3t ara 781 ot 2
o WY 37 faRieht Al
* Sl 379 gqdm AT ured 3
o 3T g A
o WY 3% efiaT gdw Y T I Hag 3 A
Correct Answer :-sit 3% a1 gde Sfid 38 $t Fare od Y1

2)
Question Stimulus :-
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3)
Question Stimulus :-
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4)

Question Stimulus :-
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5)
Question Stimulus :-
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6)

Question Stimulus :-
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Question Stimulus :-
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8)

Question Stimulus :-
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Question Stimulus :-
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¢ a1 enft TSy, Y Y ® 9% WE

¢ BT A-APHT S A, §3M Bl Ffel, B Y IG|
g 7 faar wifa W, &t §1d 3w Arel
faorg baa dig $t 76, UH B @ RT IR YA
firgf Bpe Yed wuTe, U fiwand wR-W gH|

e 9t fasa’ @ w7 3R § 2



7T Ft ot

AR & 9 WX ofd
* dig BT PRIER
o gl AT
Correct Answer :-gRURI & 90 WX i

10)

Question Stimulus :-

Frafafa s @ aryde Teet 39 9 G T sgflawad uxat o I8 faeen &1 999 &9

I % gefiet T 9% @I, TR STdar e
ReR A Ul & ? foran, Ry g &1 A1 sfosmai
Rigwn faga v srure v fAaffRia &1 S™mE|

¢ et onft fe@Td v, 7t @} ¥ % WE

if BT A-APT o AW, AT <Al gfeT, HR & gl
T A e =ifq wawr, it g9 v Aral
faorg Faa die #7981, U W G’ W YW
firy T Ted TuTe, Tt fiwerd WR-W gH|

DIH-A1 GYTE fHef a1 T U1 ?
* 3B
. T TS
o fymER
° I
Correct Answer :-3%

11)

Question Stimulus :-
“F+3 7 U P v A 32



R

o o
T8 4 PIS Tol
Correct Answer : -

12)
Question Stimulus :-
3T gl fha g | 82
* JeH[E
[ ] W
* {adid
o Iuiaa At
Correct Answer :-3ugad 9+

13)

Question Stimulus :-
fafefed 9 @&t gerak o1 997 Fifve-
o 3@ FI arel
o 3T B ot
o 3@ PT ART
* JTE FT 9
Correct Answer :-3{1@ &T aRT
14)

Question Stimulus :-

“gga H YIS B A are” 91 & Y Suged qeg g ?
* ggHTdt



Correct Answer :-Sgymifag

15)

Question Stimulus :-
o T Y & forT U wreg &1 Wt Hifore-
‘RraeT 9 wed vgd frar Siar @

o 49y

Ty Wi

* 3RMTUY

* HIAW
Correct Answer :-3RRT0Yg
16)

Question Stimulus :-

“Ufda’ g BT qgd FhTI-

A4

° U

* Uld

* UG

o uuf
Correct Answer :-did
17)

Question Stimulus :-
“3ree’ &1 faudtarde ug ghm-

o difty
o SHifa



o UHI
°* JYPR
Correct Answer :-34sR

18)

Question Stimulus :-
‘g’ FT ygigardt T8 8-
° &
* Uieu
o fdeu
o TH I P T
Correct Answer :-30 @ I3 gl

19)

Question Stimulus :-
“HeT+ 3wy’ &7 AR g g-
o HgINvY
o HETY
* HERG
o WENY
Correct Answer :-Hgiuy

20)
Question Stimulus :-
‘arfRr # WY -

° R HY

o o Uiy

o fowfwfy



o & |fY
Correct Answer :-%ivH dfY

21)
Question Stimulus :-
TS’ &1 i fawse Sifore-

° T+3H

* N+3d

* A+3F

° f+3®
Correct Answer :-+3/®

22)

Question Stimulus :-
‘Haod TRVl e A FHY Ugan—e-

o U TqFY

TdY TYY
SHFUHIT T

* HO AT
Correct Answer :-3fU®Ru &y

23)

Question Stimulus :-

fareg-fagioor
T | IS Tl



Correct Answer :-fagiuur

24)

Question Stimulus :-

P W ' & e e | @ Tea fawer o1 994 Fifve-
o fRiars
* I
o grar-fuar
o BaH I
Correct Answer :-3&d

25)

Question Stimulus :-

e Teg Frer & forg i & @ Tera fFpen o1 997 Fifore-
* M
* g
* TS
* WHY
Correct Answer :-%mdd

26)

Question Stimulus :-

U fawedl § & U@ argy 9gt §, 98 919 &1 994 Bifre-
o T et smgsit 3t amsit
o TH fohal 3mq @ren
o U® el gy wmai
o Sudaa ot
Correct Answer :-T& f&at 3mq arsi

27)



Question Stimulus :-

9 & A U a1y T9d €, T4 919 BT 99 Bifore-
o gu g & AT §
o IHA IRI-UTAl Tadt @IS
° U H T US T
o # IAHR SATGT 3@
Correct Answer ;-394 IRI-UT S @rg

28)

Question Stimulus :-
Yot ¥ HHTA B STH A UIST 3G%T I9FT g0 § 9/ &1 PR Ugan-e-

o faferara®
o faETgara®
* UIdIds
° THBEEF
Correct Answer :-sB[AR®

29)

Question Stimulus :-

o ® 3 T+ UgEnAe-

o faft
Correct Answer :-arcHife

30)

Question Stimulus :-



Correct Answer :-314:

31)

Question Stimulus :-
" d BT goll 1 Tgr” didbifad &1 o -

o 3RIHT BT
* T& QU al gu
* e |Gl
o e g
Correct Answer :-aigsT giur

32)

Question Stimulus :-
“H dfdr & we I o fora §1 g & et o aredt dfdw wifew-

o GMEA # BRT @aAT - gRear 7 3mHg
® T TSI - SHT ARAT
o Udt ¥51 - faErR fremn
o PHISt BT I - Tgd BT g1
Correct Answer -8l &1 {9 - 95 33T 8T

33)

Question Stimulus :-

e argde &1 Hauu -



gRefiar &1 o 7 fhdlt & arehs g fpelt ok

T 3T T g1 3, @R A ameht 3

TR AT fioRT @9, 384 9t ATl 211
Tl BI &
o Wida W i A ud
 TIfF WU § g ife

Sudad at

Correct Answer :-WRTefi9 94U+ § 9@ iR

34)
Question Stimulus :-
o wdelt F T IWR 1 T9A Fi-
Bt W BIPHL, ATEETs A
U 98 U1 U U9 a ||

* TR

o firf

* TR

* THTR
Correct Answer :-fadf
35)

Question Stimulus :-

g TRl & T SR BT T4 Fifre-
AR TRHA -t T el

T & ARG g¥ & HiaTl



* HFHS! HT AA
o T q BN TE
Correct Answer :-AYAsd! T BT

36)

Question Stimulus :-

R 41T 9RE BF R g arel IRINS Au1si 3 ...,
o faum
o IIHT
* JARIHTE
o WAtHTE
Correct Answer :-3[Hiq
37)
Question Stimulus :-
o dfes # ©< vgare-
“HTG Y W AT 3 B, 3T | gar e
Y& YTal § HgTE®, HTGAT HRAT T8t 1”7

* WGNTAT
Correct Answer :-fifaesr

38)

Question Stimulus :-

o ufda # o weafe-

vHarar gy gRd e R gar &
T 9% I-Pe, G TAPR



Afeat IH-yare, Eo aR ued §
* T
o gfaut
o T
o I
Correct Answer :-3a

39)
Question Stimulus :-
Ay dfdaat § sreierR ygae-
"0 Y AR favg, wRa wEify i)
TfY yres YR Anyfea pur Riy gdi i~
* TUF IAPR
* IUHT PR
* ¥ PR
o YifdHT SRiPR
Correct Answer :-FU& 3APR
40)

Question Stimulus :-

UeT YT 1 Ugedl HIRN® UfA®T 1915 # fFd TR & yH1Re g8 ?
o iura
* R
o IR
* S9aRR
Correct Answer :-g¢R

41)



Question Stimulus :-
fa & @ o ¥ v wiua d yele fid g ?
o YT
® WHI&TPR
o yafyg I
o IJule gt
Correct Answer :-3WRie g

42)
Question Stimulus :-
fru faf@a 6 o= & & uyw 9 sifaw ffda € v o IR ww A afRua iR
(1) R 3FdA Id B §
(T) O Jara G &
(@) forgia wwwa uifife
() TPR T oo SHaT-UGfd
(9) STSFR] T JTRAER] B
(6) = & yfafga fovar @

* IT|Y

* gIAT

e YT

® ¥dU94q

Correct Answer :-¥ddd

43)

Question Stimulus :-

fru faf@a 6 o= & & uyw g sifaw ffda € v o Sfia ww A afRua Fifsr
(1) Ry &t & Seplear §

(T) qAT 3UH wied &Y

() 3O YT, SFRET Peurierdr



() YR [HT TRERT
(@) & BRT 3T HY

(6) 3o ffRre wur wEar @
e gV dd
® ddvNyY
® ¢¥Yd9
® ¥IdYd

Correct Answer =4339 d

a4)

Question Stimulus :-
3raft-anfY wrem Ty S @2

o WU YAHT
o ITHF YAHT
o gUl qdH I
o ifery gof adam= s
Correct Answer :-3Hd YdbTd

45)

Question Stimulus :-
“yfd af A8 & 91¢ 3 Wl 87 a1 A 59 UeR Y "y 8

o fqqara®
o Sfdara®
* YqardD
o UEES
Correct Answer :-wTfaara®

46)

Question Stimulus :-



“ BT ~* HETHTH &b TIIPR BT A 8-

o IMYRIRE feda®dw

Correct Answer :-S[O3® TG

47)

Question Stimulus :-
Rrsr & gRT E &1 uF ¥ "arU gm-

o frg R
* Y5 Tosit
* HUH THH
e yadlm
Correct Answer :-943d Touit

48)

Question Stimulus :-
IS U & RTd = & I S |1 9 31T 82

* AP WA 7 T

o Y UA

* e ATH P B

o T A TS T
Correct Answer :-34Tg U

49)
Question Stimulus :-

“HEUN BTG TTAT b IAFATPR BT ATH gfe-

o I PIG< ITeTaL



o T YIS T
o Higa ey
o 3l fama

Correct Answer :-T41 YdIG ad

50)

Question Stimulus :-
1 § & 21 @ = gie ded var ot 82
* UHTT B
* PR
* gl vl
o Ififem
Correct Answer :-3gi diq
51)

Question Stimulus :-
+H fora ara & 9 a1 R faeg ger 3-
WERYRY ST ST DI [ATH TTHR DS

* PP U

o uf foRm

o v fRm

o I@mvl favm fag
Correct Answer :-315% %

52)

Question Stimulus :-
o ot & W favm faegY &1 T genm 22

* I, SM; AN I=1g!

* JHMY; H; AR I=1g!



* JIY! N IR =g
* I U] IR ™|
Correct Answer :-3F[! YN IARRR =Y

53)

Question Stimulus :-
“TE ST AT ETaR BT "al o g-
* TH 3@ aren AR
o Sfua-3gfa &1 fdaR s
o Sfua-srgfa &1 faarfet foar sqagR S
* JHAI PT HAGR PIT
Correct Answer :-JHdl $T ATER BT

54)

Question Stimulus :-

YT I FUT IS AR b1 T 3 -
o ST AT BN YT F WY AT € g
o T GH ORI F ATY FRIT 3T § gER TR 1Y HA
o Wit ¥ ITUR Yoo W 83 &
o T Wit TR SR I & B
Correct Answer -l ¥ R 9@ i g §

55)

Question Stimulus :-

fadd g TR T 22
e ®, 3 T, 3
°* ¥,% 3%

* 3% 9B



°* I, %, % B
Correct Answer :-3(, 3,3, 5

56)

Question Stimulus :-
’ quf 8-

° <™

. T

o dIEHA

* HUSY
Correct Answer -3
57)

Question Stimulus :-

I F 2P |/ 9T fren UPR F B 72
o a
o A
* U™
* IR
Correct Answer :-ifiH

58)
Question Stimulus :-
o Tee-g & faweul & @ I8 erd-g &1 99+ Fifre-
T
° UST-gTST
* YST-HH
R

® gPST-¢P



Correct Answer :-YigI-ghal

59)

Question Stimulus :-
o Wt gW & fawedl & 15w e 98 78 81 Taa T $1 999 Pifoe-
o UIfOr-ur
* Bd-BTd
* T-fA®e
* UER-URER
Correct Answer :-TN-f@e

60)

Question Stimulus :-

fra aug & 9t g yufgarh €2
o T, IS, Bid, P

® TId, d-, 4c, UsSl

3Fd, TR, ifAd, gHR
o 39, €9, U, TR
Correct Answer :-guvl, 3TsT, H1d, GH

61)

Question Stimulus :-
Ry’ &1 fae gfaa:-

* Y

o YT

. fige

* DT
Correct Answer :-RYd

62)



Question Stimulus :-
& & o9 91 dga W 72

Correct Answer :-q3¥

63)

Question Stimulus :-
o dfeaaY Y ugd: w9 # HHaT & Y9 MY, ) 98l frw ¥ @) fAsfyy gt 82

° IR TH
e R
* A TH
o T A K T
Correct Answer : -9 39

64)

Question Stimulus :-

"SIl € U8 Siaq-udi § IuAY 3=
o Siiaq
® Tl

Shtaq-gd

o SIEdl
Correct Answer :-siiaq

65)

Question Stimulus :-



° Y
*J
Correct Answer :-4q

66)

Question Stimulus :-
g A 4 f5g & 98 Imiye ug 82

o TTH A BIg Tl
Correct Answer :-fearix

67)

Question Stimulus :-
e d 3§ f5g o ® 397 3ryar '§ Ty el 82
o ff
. 7=
o Ufars
o it
Correct Answer :-ufsaga

68)

Question Stimulus :-
R & UR- YRa # fHa- aiferat 82

e 525



e 515
® 544
e 550
Correct Answer :-544

69)

Question Stimulus :-
ugan fay 6 awie= sl gon?
® Tl
* AMYR
* Hadhl
* WS
Correct Answer :-ARTgR

70)

Question Stimulus :-
@Sl Sl &1 g T -

Correct Answer :-sRdt

Topic:- General Knowledge
1)

Question Stimulus :-

Which sector is the largest employer in India? / ®IF-9T & YRd ¥ 9a4 FaT fFaoie &89 82
* Indian Armed Forces / YRAI I ¢

* Indian Railways / YRdW Y@



* National Health Service / P19 WA 4T

® Banking / of
Correct Answer :-Indian Railways / HRAH ¥
2)

Question Stimulus :-

Match the following and select the correct answer from the codes given below:

/ g &1 fiee ofiR <R fRT T SISl & SMYR WR JEl IR &1 999 HY

List-I List-II

1. Kerala a. Golden temple

2. Uttar Pradesh b. Siddhi Vinayak temple

3. Maharashtra c. Kashi Viswanath Temple

4. Punjab d. Padmanabhaswamy Temple
gfi-1 gfu-11

1. Bd a. wf d@fex

2. IW YA b. RifSfama® wfeR

3. HERTY c. Bt fay=ny AR

4. USg d. TR HiRR

® 1-d,2-c,3-b, 4-a

® 1-d,2-c, 3-a, 4-b

® 1-c,2-d, 3-b, 4-a

® 1-d, 2-b, 3-c, 4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
3)

Question Stimulus :-

What is the time difference between longitudes? | ¥G & S HY BT T 3T ﬁ?ﬂ % ?

® 2 minute 4 seconds / 2 fiFIT 4 ﬁm



® 4second/ 4 %03
® 4 minute / 4 fiFC
® 4 minute 2 second / 4 fiFE 2 ﬁm@r

Correct Answer :-4 minute / 4 fiI9e

4)
Question Stimulus :-

Which of the following types of coal contains over 90 percent carbon and is smokeless? / FIgd & g v A

¥ frad 90 wfa=ma id graT 3 3R a8 Yaif Iea 32
* Peat /Ul
e Bituminous coal / faga-t Higar
* Lignite / foTUTSe ) Y31 FI@n(
* Anthracite / GUTHTSC

Correct Answer :-Anthracite / TS

5)
Question Stimulus :-

What does 'XP' in Microsoft Windows XP stand for? 'FI'IETﬁﬂTlE ICEI] Lo 0 # "IN W &1 T o
87

Extra Product / UHRET WSaE

Experience / Eﬂ&‘fﬂﬁ'aﬁ
Entry Product / Q_gﬁ msae

® Extra Power / TR gia
Correct Answer :-Experience / Ty
6)
Question Stimulus :-

Which of the following is not a security or privacy threat? / E:I'l}l I Udh | qR&r at MU-Tadr &1 WaxT qﬁ %?
® Piggybacking / fopfrafdr



i Cracking/a)_ﬁ’_ﬂ

® Virus /dIgH

® Debugging / feafim
Correct Answer :-Debugging / &R
7)

Question Stimulus :-

The main watershed of most of the peninsular river lies in the / PR yragid Afear
PT &I AAAUSTS o T4 o @

® Aravalli Hills / Gﬂﬁa?ﬂ uﬂa

e Rajmahal Hills / ITSTHET fged

® Western Ghats / ITF%ITﬁ urd}

e Siwalik Hills / Rrarfore uda
Correct Answer :-Western Ghats / 93T g1
8)

Question Stimulus :-

Which of the following is the largest peninsula is the world? / fFafafaa & ¥ #149 fay &1 951 981 TG 87
® Arabian Peninsula / 3RY! Yragg
® [Indian peninsula / YRA UTagiq
® Malay Peninsula / e UG
® None of the above / IWRIF aﬁz—f gl
Correct Answer :-Arabian Peninsula / 3R&l UTGgIU
9)
Question Stimulus :-

Dollu Kunitha is a famous drum dance of . / ST FYT ===-mmmmmm- FT URIS 39 99 B
e Karnataka / BIIcH

o Kerala/ W



® Telangana / CRUIE

e Tamilnadu / U qarg
Correct Answer :-Karnataka / ®Ic®h
10)

Question Stimulus :-

Which among the following was first metal used by man? / g d @ =19 YT {1 gIR1T 99 Ugd
SYART Bt 15 A

e Silver/ il'l'(ﬂ

® Diamond / ﬁ?T
e Copper/ GICH
® Jron/ ?ﬁ'ﬁa’

Correct Answer :-Copper / didl

11)

Question Stimulus :-

Which of the following state is in the border of Tripura? / g o Qo9 91 Iy ﬁ'ﬂ?T 31 Har | %’?
e Bihar / ﬁ?ﬁ
e sikkim / Rifewa
e Arunachal Pradesh / 30T ';I%"\’T

® Mizoram/ 'Flfa'l'g?

Correct Answer :-Mizoram/ HOTqR
12)

Question Stimulus :-

Soor Sarovar Bird Sanctuary is located in which district of Uttar Pradesh? / QIQ'W gelt AR SR UG &
fopa fora & R @2

® Allahabad / S¢iTgldlc
® Aligarh / m



® Agra /3R

® Azamgarh / S{TSTHG
Correct Answer :-Agra / 3TRT
13)

Question Stimulus :-

Which of the following Indian States is called the Land of The Rising Sun? / fFrafafaa urRdla w0 & @ 14 £318
A GRS BT YA HET oIrar 32

® Madhya Pradesh / HYY =T

e Uttar Pradesh / 3T% USRI

e Arunachal Pradesh / /SUITS WSRT
® Himachal Pradesh / %Wﬁl?[ u%'«fr

Correct Answer :-Arunachal Pradesh / 3T W=l

14)
Question Stimulus :-

In which of the following countries is the Temple of Tooth located? / ﬁ"EI' | ﬁ foa %QT el., Eg"lT‘l' DI qﬁ? '@R‘l’ %?

India / HIRd

Sri Lanka / st GG

Nepal / Aurd

Bhutan / ¥cTH

Correct Answer :-Sri Lanka / 9t &1

15)
Question Stimulus :-

London is located across the river. / TG T'R‘ﬁ & UR 4@ %I

o Danube/@Fq\a

® Subterranean / Eﬁl‘lﬁ
® Lea /ﬁl'@ﬂ'



® Thames / en
Correct Answer :-Thames / 9%
16)

Question Stimulus :-

Who among the following was India’s first one-day cricket captain? / faffRa A e YRaT & Tgd Ush
il frdre Twm A2

® Ajit Wadekar / 3eild arsH?

® Sourav Ganguly / IR Tﬂﬁﬁ

® Sunil Gavaskar / W TTa¥h

® Mohammed Azharuddin / uhma GI\_EI?W_'I'

Correct Answer :-Ajit Wadekar / 3[Sitd ara®y

17)

Question Stimulus :-

Which cricketer has recorded the fastest century in Test match history? / X fhbe & EﬁBT\‘{ T {59 fhdpex A
e A WP gt fbar ?

® AB de Villiers / T ot St fafcemasd

e Virat Kohli / faRTe ®igeht

® David Warner / {38 TR

® Brendon McCullum / S918 Ao Head

Correct Answer :-Brendon McCullum / §918- AP D IH

18)
Question Stimulus :-

Who among the following is known as ‘Kangaroos’ / g & A $9 ‘IR FEdad §

® South Africa / f&Iur IfopeT

® Australia / Gﬁﬁm
® England / ?Ta'g



® Sri Lanka / CIGCa)
Correct Answer :-Australia / R¢ferdT
19)

Question Stimulus :-

Where was 2nd Asian All Star Athletics Championship organized in September 20087 / fRyawax 2008 A
FEI AP s TREH 3Hid ¥R Tyafedd IR smafor w8 it ot 2

e Mysore / 'a?{g
® Mumbai / §§§

e Bhopal / HUTd

* Kolkata / Pra@Tdl

Correct Answer :-Bhopal / HIUTd

20)
Question Stimulus :-

Which among the following is NOT member of SAARC?/ g d %I 9T SAARC F1 oA T-Iﬁ%’-’
® Nepal/ LG
* Maldives / ATAGId
® Jran/ é‘m
e Sri Lanka / Id®1
Correct Answer :-Iran/ 334

21)

Question Stimulus :-

is the successor body of the Company Law Board. / HYHL AT 9IS BT IWITPR! Aer
gl
® National Company Law Tribunal / ?T@'q A fafer srftrepvor
® Income Tax Appellate Tribunal / STI®HY 3rdteia srferpror

® Central Administrative Tribunal / W URMHS Sffeor



® Securities Appellate Tribunal / uﬁf“{ﬁf Srdtely srftravor
Correct Answer :-National Company Law Tribunal / ?T@'q HrAT fafer srftrevor

22)
Question Stimulus :-

Which among the following is the largest sugarcane producing State of India / g o Q S I1 35T YR BT
I ST TAT SGUTEP g 8?2

® Maharashtra / HERTY
 Karnataka / BIlc®
® Gujarat / J[oRRId
e Uttar Pradesh / SR WX
Correct Answer :-Uttar Pradesh / 3TR U

23)

Question Stimulus :-

Which among the following countries is the largest producer of rice?

/ Tra & A $19 1 3 A9 BT TEH TIT IAGH A 82
® Indonesia / Eﬁﬁﬁm
® Bangladesh / m
® India / HRd
® China /94
Correct Answer :-China / W

24)

Question Stimulus :-

DuPont analysis is an expression which breaks into three parts. / §Th? CRGLLY| U Q?ﬁ Sfiraafad %
< &I fi= e o dvsdt 31

® Gross Profit / bd dIYH

® Return on Equity (ROE) / fyest aimq Eﬁ_a (GTR'Gﬁg)



® Net Profit / AT AYH
® Current Asset / Wm

Correct Answer :-Return on Equity (ROE) / fye ama Eﬁ?ﬁ (Wﬁﬁg')

25)
Question Stimulus :-

Who among the following Prime Ministers is not a Bharat Ratna awardee? / oo 3 g gyl & YR 39
RGBT a1 fHer 12

® Lal Bahadur Shastri / ¢T¢] d@TgY YR
e Rajiv Gandhi / IToilg TTeR

* Indira Gandhi / §fe=T TTeht

* V.P. Singh / 9.4} Rig

Correct Answer :-V.P. Singh / a1.41 Rig

26)
Question Stimulus :-

Who was the first CAG of India? / HIRd & tl?ﬁ ?ﬁE\_rﬁ B e
® Shashikant Sharma / g IHt
* Vinod Rai / famg I
e AKRoy/UT.® 34
® V Narahari Rao /?ﬁ T'R_b"\ﬁ Md

Correct Answer :-V Narahari Rao / 9 TRg31 319

27)
Question Stimulus :-

Who was the first Supreme Allied Commander of the North Atlantic Treaty Organization? / e Uedifed Eﬁiﬁ

SATATZORE & UYH A Targs FHiST S A?
® Harry Truman / Gl gﬁq
® Winston Churchill / fde= afda



® George HW Bush / Sifef Td.S&Yg g0
® Dwight Eisenhower / §dIgC 3TgoIHgIdR

Correct Answer :-Dwight Eisenhower / §dIgc 3Igo-gldl

28)

Question Stimulus :-

Who made the first Telephone call? / TAuYH ¢eAwIa wid fpaq fear
® (Queen Victoria/ AL ﬁﬂé‘]ﬁ'ﬂT
* Hello / 3@l
® Winston Churchill / fd¥e=T aftfa
« Alexander Graham Bell / 3CIGASY UTEH od

Correct Answer :-Alexander Graham Bell / AFASY YleH ad

29)

Question Stimulus :-

Who among the following was NOT a Vice President of India? / T i I P URT & ts'm'gtrﬁf Tal
¢

® Bhairon Singh Shekhawat / R} Rig @m@a

® Ramaswamy Venkataraman / IHRAH dHeHT
® Chandra Shekhar / g AW

® Basappa Danappa Jatti / SHWT qTWT Ttl@

Correct Answer :-Chandra Shekhar / 9% V&R

30)
Question Stimulus :-

Who is the father of Zoology? / yIfor ﬁTIFI P WD B %?
* Theophrastus / fU3fiitheed
® Vesalius / aafasT

® Mendel / Asd


https://en.wikipedia.org/wiki/R._Venkataraman
https://en.wikipedia.org/wiki/Chandra_Shekhar_Singh
https://en.wikipedia.org/wiki/B._D._Jatti
https://en.wikipedia.org/wiki/Chandra_Shekhar_Singh

® Aristotle / 3IR¥]

Correct Answer :-Aristotle / 3R¥]

31)
Question Stimulus :-

The National Flag of India was designed by / HRd BT ?T@TI ol 3?%? gRT %GITQ_-[ forar rar At
® Pingali Venkayya / el dean
® Jawaharlal Nehru / mﬁ%‘&
* Mahatma Gandhi / HgTHT el
® Subhas Chandra Bose / JUI¥ 4 CIk|

Correct Answer :-Pingali Venkayya / fUiTell d&an

32)

Question Stimulus :-

Among the following, which is the highest designation in Indian army? / Frafafaa § 9 yRdg 91 A T4ar=
UG S AT §?

® Lieutenant General /ﬁf@ﬁ? o Rd
® Brigadier / fomfesar
® Major General / TR SRd

® Colonel / F‘H

Correct Answer :-Licutenant General / QfteAe S Rd

33)
Question Stimulus :-

When is the “Indian Electrical Equipment Industry Mission Plan” planned to be completed? / “YRA ﬁgﬂ’d

SUBIUT JTNT A& ST B HF T B DI AT @2
o 2018
° 2020

* 2022



* 2032

Correct Answer :-2022

34)

Question Stimulus :-

® Prime Minister / HUTTHAT
® Rajya Sabha / ToY HHT

® President /TY ufer

* Lok Sabha / A& AHT

Correct Answer :-Lok Sabha / @& JHT

35)
Question Stimulus :-

Both Ashoka and Chandragupta were_. / ST e iR T'&'{[lﬂ _QI
® Guptas / U
® Mauriyas / wd

® Marathas / HTOT

® Rastrakutas /ITgPC

Correct Answer :-Mauriyas / A4

36)
Question Stimulus :-

‘Geeta-Govindam’ by Kavi Jaydeva was written in i Hid \_rl'qaﬂ' GIRI afiq Tﬁﬁ?'q’ | ferar T ATl

* Sanskrit / 4¥Pd

® Kannada / PAS
® Maithili / BfYelt

® Malayalam / HATAH



Correct Answer :-Sanskrit / G&pd

37)

Question Stimulus :-

Who among the following issued the lion slayer-type of coins? / g A O fpaq W ot \’rI'ITﬁI are e S
fa?

® Adil Shah / 3Tfe =mmaT
® Krishnadevaraya / ?Wm
® Harsha / E’Gﬁ
® Chandragupta-11 / Gdl-11
Correct Answer :-Chandragupta-I1 / T=qI-11

38)
Question Stimulus :-

Who among the following was on board Sukhoi-30 when it took-off on 25 November 2009 from Pune? / fad3sN

gdEls - 30 ® AT T 99 AU 9 25 Ta%E% 2009 YUl § I8 WA
® M.S. Dhoni / TH.TH. Hi+t
® Pratibha Patil / UfaduT urfew
® A.P.J. Abdul Kalam / QYL 3rege Harmq
® Aishwarya Rai / i},%[qf M
Correct Answer :-Pratibha Patil / UfauT uifea
39)

Question Stimulus :-

Which among the following states has lowest density of population /ﬁﬂ}l H Y fpg sa | G-I'Iﬁ'la Bl Ydcd
HqE FH 2

e Sikkim / fafded

® Arunachal Pradesh / 3REATIA U
® Goa/Tal

o Kerala / A



Correct Answer :-Arunachal Pradesh / 3R=-TId UK

40)
Question Stimulus :-

NASA successfully launched a super pressure balloon from

TERPBI__ = yHreA fear
* USA/TTA.TY
* New Zealand / g9iAS
* China /9
* India/ HIRA

Correct Answer :-New Zealand / <[itdS

41)

Question Stimulus :-

/AT 9 G AdIyd® b JuR arg ard

Who founded in London, the Indian Home Rule Society?/ @& H S0SdT1 17 ©d HRIGC! DI RITYAT fHa+ 12

® TLal Hardayal/ ©T¢T gRGAl
® Madan Lal Dhingra/ Hq+ ¢lTcel %ﬂTRT
® Sardar Ajeet Singh/ URQIR 3reita fig

® Shyamji Krishna Verma/ qTHSI! G Ul CL

Correct Answer :-Shyamji Krishna Verma/ SarHsil PO qut

42)

Question Stimulus :-

Which of the following states is NOT on the border of Kerala? /ﬁ"}l’ k| aﬁq T Y HIA B THT R qﬁ %?

e Andhra Pradesh / 3T U%QT
e Karnataka / 3)_'{7275
 Tamil Nadu / Tf0d AT

e None oftheselgqﬁ' I aﬁ% T'Iﬁ



Correct Answer :-Andhra Pradesh / 3{T=8[ uﬂ"\’[

43)
Question Stimulus :-

Who is the CEO of NATGRID? / 32fI8 (NATGRID) HT Hig3) H 82
e Ajit Doval / 3iid glaTd
® L Pachau/Ud U3
* AK Singh Jyoti / T.% Rig wifa
® AK Patnaik / t{.a? UcIRD

Correct Answer :-AK Patnaik / T.% UedTI®

44)
Question Stimulus :-

Who was conferred the Mohun Bagan Ratna in 2016? / 2016 s | 'Fﬁ?T'I' I ¥ A o gwfaa foear mare

® Baichung Bhutia / STST ql[ﬁt"
® Syed Naeemuddin / ?T&‘a W

e Karuna Shankar Bhattacharya / &%UI R HgTEM™l
® Sunil Chettri / g-td ¥4

Correct Answer :-Syed Naeemuddin / T5¢ THE

45)
Question Stimulus :-

When was ‘Central Indian Security Forces (CISF)’ established? / "B R R&T de" MSH@W)' |
RITHT 9 g3 A2

®* 1959
® 1965
® 1969

® 1975



Correct Answer :-1969

46)
Question Stimulus :-

World Food Day is celebrated on / 3%y @ fdaw w=man wiar 8
® October 16 / 3dgd¥ 16
® October 26 / 3dgdX 26
® October 6 / 3dgdY 6

® October 14 / 3dgaR 14

Correct Answer :-October 16 / 3[dgaX 16

47)
Question Stimulus :-

Which among the following states has the largest concentration of stupas? /
fora & A fra Iva § Ul @1 fasraad Gesue?

 Himachal Pradesh / fgHT=Iel Ua=T

e Madhya Pradesh / TS0 WX

* Arunachal Pradesh / 3SUITS W=

® Uttar Pradesh / 3R u%,‘\’r

Correct Answer :-Madhya Pradesh / H0 TI%QT

48)
Question Stimulus :-

Most important river island in Madhya Pradesh is / H& U § 9y w LA %
* Kalbhairava / BTAHRT
e Omkareshwar / STPTYRER
® Wainganga / QIR

® Nauradehi / :ﬁTI%_Eﬂ



Correct Answer :-Omkareshwar / STBINTAR

49)
Question Stimulus :-

When was the ‘Hindi Granth Academy’ in Bhopal established? / viard § 'f%r_\:ﬁ Y BTGHT" I RITYAT HF BT
Tt At

* 1956
* 1969
* 1959
* 1961

Correct Answer :-1969

50)

Question Stimulus :-

Largest river of Madhya Pradesh is / ¢ ";I%QT P gad aﬁ q?ﬂ %
® Chambal / JH ¢
® Betwa/dddl
e Sindh/Rig
® Narmada / qﬁﬂT

Correct Answer :-Narmada / THal

51)
Question Stimulus :-

Which of the following rational number lies between 1/4 and 12 / R # & 19 Jt tRwa G 14 3R 12 &
¥ fRa ?

® 3/4
® 3/8
® 9/8

® 32



Correct Answer :-3/8
52)
Question Stimulus :-
pr-q=7andpq=30ﬁndthevalue 0fp2+q2./ﬂ'ﬁp-q=73ﬁ?pq=30?ﬁ'pz+q2$[WWI
* 19
°* 49
e .20
® 109
Correct Answer :-109
53)
Question Stimulus :-

Manu is 7 years older than Meena. If the sum of their age is 25, what is Manu’s age? / H] T d 7 9ra aﬁ %l

gfe IASt 3T BT AT 25 g, df T B 3ATg T 8?2
e 9years /9 TY
e 19years 6 months / 19 I¢ 6 HgA
e 16 years / 16 T4
e 18 years / 18 a4

Correct Answer :-16 years / 16 a4

54)
Question Stimulus :-

A sweet box measures as follows- Length 32cm, Width 20cm and height
10cm.Mini wants to pack 100 sweets in the shape of cubes in it. What should

be the size of each sweet? / T& fHoTs & f3=d &1 91U 39 SR A 8- dvarg 32 M+,
dterd 20 A, Far€ 10 A fF) 9 & R B 100 ST IHH A6 BT AR R
TP MSTE &1 19 fpaar a1 aifad?

e A sweet box measures as follows- Length 32cm, Width 20cm and
height 10cm.Mini wants to pack 100 sweets in the shape of cubes
in it. What should be the size of each sweet? / T fU3T8 & fe=d &1

917 39 UPR A 8- TS 32 i, e 20 9, Sar€ 10 9 o &



m&gaﬂmoﬁaﬁmwﬁﬁmmmﬁ%lmmmmmﬁm

e 8cm / 8 9Ht

* 4cm / 4 9t

e 2cm / 2 Ht
Correct Answer :-4cm / 4 9t
55)

Question Stimulus :-

Find the fourth proportional to: 8 kg: 32 kg :: 17 kg: ----? / 8 f&um: 32 fFum :: 17
fFum: ---- & R drar JuTguTe fAeTfer?

e 4.25kg / 4.25 fopall
e 256 kg / 256 fopaat
« 136 kg / 136 fal
e 68kg / 68 fopelt
Correct Answer :-68 kg / 68 forat

56)

Question Stimulus :-

The probability that an integer in the set 1, 2, 3, ...86 is divisible by 2 and not divisible by 3 is

/ W fF Ae 1, 2, 3, ...86 H quifer 2 J faurfora g iR 3 9 fawrfoa =8 2
* 30/89
* 31/83
e 29/86
o 28/84

Correct Answer :-29/86

57)

Question Stimulus :-



The range of the following data 95, 115, 25, 20, 35, 55 is / <9 STeT &1 URTR B 95, 115, 25, 20, 35, 55
e 115
e 20
° 55
e O5
Correct Answer :-95

58)
Question Stimulus :-

The adjacent angles on a straight line is in the ratio 4:5. Find the measure of each angle in degrees in the order. /

T Wi Y@ R UIRAR P71 4:5 F U A 21 YD Hior w1 A1 FEM & v A Frered|
® 40,50
* 80, 100
® 60, 100
* 200,160
Correct Answer :-80, 100
59)

Question Stimulus :-

If one angle of a polygon is 185, then that polygon is called a------------------- polygon. / gfe dg Yol &I g G|
185° 3, A 39 TgY Bl TEYS 84 3|

® convex / 3«id
® concave / 3ddd
® Regular / Frafia
® Triangle / IECaLY|
Correct Answer :-concave / 3ddd

60)

Question Stimulus :-



Distance in km on y-axis y-3& IR ﬁ'ﬂ f&it d Time in hours---on x-axis x-3{& UX JHYG GUe| A

A postman cycles from the post office to a neighbouring area to deliver the letters and the
parcels. The distance (in km on y-axis) travelled by him at different times is_ shown by the
above graph. What is the distance covered after the 5 hours? / T®h Sifear gl &1 faavur s34 %‘g’

TP § TSI &7 9% Aisfed gamar 3| 39 gRT Al awal & a0 31 73 g1l SUR 16 gRI(y-3i& |
Pt #) feas i 3| 5 gvel arg fpa-l au #Y ws g& @ gnft?
* 30
e 20
e 50
e 60
Correct Answer :-30
61)
Question Stimulus :-

The lowest temperature possible in nature / UHfd # YT Ha& HH 90 8
e OK
e -273 K
e 273K
« 2730 C
Correct Answer :-0 K

62)



Question Stimulus :-

The charge on a cation depends on / YA IR 3Taer TIW AR ®=ar %
® The number of protons present in the atom / UXHTY[ T IufRYT WAl &t =T
® The number of electrons present in the atom / UYHTU] ¥ IufRE@ Eaaa"lﬁ Pt T@T
® The number of electrons removed from the atom / UXHIY[ ¥ o A ™ Eﬁﬁ'ﬁ P I=T
® The number of electrons added to the atom / UXHTY] i Trﬁ% ™ Eﬁﬂfﬁﬁ CAR:EC

Correct Answer :-The number of electrons removed from the atom / UXHTU] A e A sﬁaﬁ%ﬁaﬁ
Je

63)
Question Stimulus :-

A constant force acting on a body of mass 5 kg changes its speed from 2 ms™! to 4 ms! in 20 s, without changing its
direction of motion. The magnitude of the force is / Th 5 feaum SoOHTH Bt ad WX B B el fFRaw dd,
AP A1 B 2" /A | 4H/F ¥ ufvafda srar g, foar sa@! ufa @ fexm 9ea gv1 9@ &1 ufvamor @

® 0.2N
® 05N
® 2N
® 5N
Correct Answer :-0.5N

64)
Question Stimulus :-

Which of the following is a possible reading marked on a clinical thermometer? / Siaest yuiHier w® Tufya fear
T YT UTTi® P AT §2

e 00C
e« 20 90C
e 40 9C

e 100°



Correct Answer :-40 9C

65)
Question Stimulus :-

Which among the following is a weak acid?/ﬁ? # | B9 91 Udh FHGR 3 %?
® HCl
* HNO,
® CH;COOH
* H,S04
Correct Answer :-CH;COOH
66)

Question Stimulus :-

The browning of Brinjal or Apple when cut & exposed to air is a | Be Y &= 1 A9 Bl qa1g P IUh § 7@ W
JABT T YRT B AT

® Physical change / ‘l-ﬁﬁﬁ? qﬁﬂ?&l %
® Chemical change / ITETafe afvad— %
® Reversible change / SchHTY gRad+ %
° Nochange/WWWq’mﬁqqﬁ%
Correct Answer :-Chemical change / ITATA® uf¥ad- g

67)
Question Stimulus :-

Which out of the following can be present in both the nucleus and the

ribosomes / 9 & & 319 A1H® SR g gHT § IUTRUT §F Tod §
* DNA/SLTA.Y
* Free aminoacids / Jud 3T 3
* MRNA / TH 3R.TA.Y

e tRNA / ¢ 3R.TA.T



Correct Answer :-mRNA / TH 3R.TA.T

68)

Question Stimulus :-

HTHT Y Hommmmmmmmmmmmmmee AR fe@mar 8
* Axile / Wig
* Parietal / ficita
e Marginal / 3Uid
e Basal /3MuiR®

Correct Answer :-Axile / Wg

69)

Question Stimulus :-

placentation / SEHIB®! ASRA

The term used for the structure used to transfer genetlc information from one cell to the

other in genetic engineering is

AR YT RIFART B # Uga W1 & g S Weg WY g 8, 98 ©

* Carrier / AIG®H

* t-RNA /&-3REAT

®* m-RNA /TH-3RTAT
® Vector /dTER

Correct Answer :-Vector / 3deX

70)

Question Stimulus :-

mﬁa"’rﬁwaﬁﬁmﬁgﬂ'&w

The science which uses Fossils to study the history of life on earth is /dge ﬁ?ﬂq S| T{?Zﬂ W Saqd &
gfaeT &1 e $31 & fore Sharew &1 Iy #a1 8

® Archeology / QRTdd RT¥A

® Geology / '1;[[%317'[
® Palaentology / Strarsyq ﬁ'ﬂ'l—'l



® Life history / Eﬁﬂﬁ

Correct Answer :-Palaentology / Sitarsy fagm=

71)
Question Stimulus :-

The average of all odd numbers between 1 and 100 is? / 1 3T 100 & F= Ft gft faww Tersi &1 3ad F

&
° 51
® 49
e 50
e 53
Correct Answer :-50

72)
Question Stimulus :-

What least number to be added to each of 3, 13 and 43 to ensure that the numbers are

in continued proportion? /3, 13@43ﬁﬁ?ﬁwmﬁﬁﬁm=ﬁﬂﬂ%ﬁmﬁﬁ7ﬁw
faaa guTguIfa® 8 wre?

e 2
e 3
e 4
® None / PIS T8l

Correct Answer :-2

73)

Question Stimulus :-
5/8M of 72 is / 72 BT S/Sﬁ T
® 63
® 48

e 45



e 60
Correct Answer :-45
74)

Question Stimulus :-

Remainder when you divide 529 by 35 is / SId 3{Tq 529 P 359 faurea sd % dI UY: Remainder when you
divide 529 by 35 is / ST9 3MTT 529 BI 35 F fIUTRIG Ha & a1 AW:

e 6

e 4

e 0
Correct Answer :-4
75)

Question Stimulus :-

3 years ago, the average age of 5 members is a family was 17 years. What is their present

total age? / 3 U Ugd, U URGR H 5 Wl 3t 3¥d g 17 a9 ft| aduq & it Y pa e
g frat 82

® 88 years / 88%
® 90 years / 90 T
® 95 years / 95aY
® 100 years / 1009%

Correct Answer :-100 years / 1009%

76)

Question Stimulus :-

The average age of a husband and his wife was 26 years at the time of marriage. After 2 yrs, then average of the
couple along with their child decreases by 7 years. What is the age of the child? / M & qHA Udh ufa sk

ISP Ul DI 3T 3 26 9 R 2 auf 91¢, TP T & 1Y ufe-ufer F 3id # 7 auf Ft FHY 3 WAt
I B g fpa 22

o 2yrs/2a4



i lyrs/la'ﬁf

® 6 months /6 'Flfﬁ
® 15yrs/ 1.59%

Correct Answer :-1yrs / 199

77)
Question Stimulus :-

Ahmed asked for a personal loan from a bank for Rs. 1,00,000. Out of that, he had to pay Rs. 20,000 to his
landlord, Rs. 3,000 to his partner, and with Rs. 35,000 he had to purchase a motor cycle. How much rupees will be

left with Ahmed after all the expenditure? / IgH¢ Th CEak 1,00,000 =YW & fediTd BT & ﬁl"'-{ hedl %I
orad & 39, 20,000 YT 3T AHTH ATFASE B, 3,000 TUTC 3T U BT TF 35,000 TUTC § IH TH
Y ng'ﬁﬂ @ﬂﬂ‘ﬂ %I Pd Td & dlq 3gHq & Uy feaq g FAN2Ahmed asked for a personal loan

from a bank for Rs. 1,00,000. Out of that, he had to pay Rs. 20,000 to his landlord, Rs. 3,000 to his partner, and
with Rs. 35,000 he had to purchase a motor cycle. How much rupees will be left with Ahmed after all the

expenditure? / 3EHE TP Sb H 1,00,000 YT P AfRITd BT & T wgdr g1 Rrgd I 39, 20,000 9T
3R HT ATRIS DI, 3,000 TUY U U BT TF 35,000 TUC & A TP HIeX AT3fpd Tiel 81 $d
@4 & 91 38HE & U foha wug a3

® Rs. 39,000 / . 39,000

® Rs. 42,000 / . 42,000

® Rs.43,000 /. 43,000

® Rs.44,000 / . 44,000
Correct Answer :-Rs. 42,000 /3. 42,000
78)

Question Stimulus :-

Fill in the missing alphabets / W &R yfkg

ba b aabb_bb
® a,aa
® b,b,b
® ab,a

® b,a b



Correct Answer :-a,a,a

79)
Question Stimulus :-

89% of 200 is / 200 T 89% B:
° 149
* 160
e 178
e 188

Correct Answer :-178

80)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / A% IR udl & ¥ &9 A1 12 f3A T U & UHeH HH 8l 22

Robert S Ingram 1998 Revocable

8 Shaftsbury Ln
Hilton Head Island, SC 29926

(843) 342-7094

(i) Robert S Ingram 1998 Revocable

8 Shaftsbury Ln
Hilton Head Island, SC 29926

(843) 342-7094

(ii) Robert S Ingram 1998 Revocable

8 Shaftsbury Ln
Hilton Head Island, SC 29926

(843) 342-7094

(iii) Robert S Ingram 1998 Revocable



8 Shaftsbary Ln
Hilton Head Island, SC 29926

(843) 342-7094

(iv) Robert S Ingram 1998 Revocable

8 Shaftsbury Ln
Hilton Head Island, SC 29926

(843) 342-7094

® i
® jv
Correct Answer :-iii

81)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the other three? / g
IR Udl § § B9 T P I1P] 9 & UTHSH GHH g1 82

Mr.Koichiro Matsura
Kinsaka Ltd

2-2-11, Kudan
Chiyoda - ku
Hokkaido — 102

JAPAN

1. Mr.Koichiro Matsuura
Kinsaka Ltd
2-2-11, Kudan
Chiyoda - ku

Hokkaido - 102



JAPAN

1. Mr.Koichiro Matsura
Kinsaka Ltd
2-2-11, Kudan
Chiyoda - ku
Hokkaido — 102

JAPAN

1. Mr.Koichiro Matsuura
Kinsaka Ltd
2-2-11, Kudan
Chiyoda - ku
Hokkaido — 102

JAPAN

1. Mr.Koichiro Matsuura
Kinsaka Ltd
2-2-11, Kudan
Chiyoda - ku
Hokkaido — 102

JAPAN

® jv
Correct Answer :-ii

82)



Question Stimulus :-
A person walks a certain distance and rides back taking a total time of 37 min. He could walk both ways in 55 min.
How long would it take him to ride both ways? / U Sfadd St 37 firie &1 909 A gU T Fifda gt aaar 3
T4 9181 A dledl 81 98 i1 % 55 firde & e goar 31 9161 9 g1 Ikl & a9 #e A I fova-n 9wy
T?

* 29 min /294 e

e 92 min/ 92 e

® 40 min / 40f¥F1C

e 72 min/ 72fFE

Correct Answer :-29 min / 29f09¢

83)
Question Stimulus :-
A shop keeper buys 16 bags each Rs.225 he sold it for Rs.250 per bag. How much profit did he get? / T®
PTER 16 A Tl 3, TS AA Bt FHHT T 225 Bl TAD AA I I99 T0 250 ¥ 39 fean 3@
fopa=r a1y uTe gaie

* 420

* 370

* 350

® 400

Correct Answer :-400

84)
Question Stimulus :-

Find the next term in the series 7,13,21,31, / 9T H SMTeT Yq JTd aﬂﬁnz 7,13,21,31,
* 41
° 43
* 37

® 38



Correct Answer :-43

85)
Question Stimulus :-

Find the next term in the series. / %G1 § 3TAT US JTd PIforg

28,15,6,2,0

e 0
Correct Answer :-1
86)

Question Stimulus :-

In a certain language ‘gonk nonk konk’ means ‘life and death’ and ' henk konk bonk’
means ‘live better life’. Then in that language the word ‘konk’ is used for: / &t @™ HT #
‘gonk nonk konk’ &T Hddd % ‘life and death’ 3fi¥* henk konk bonk’ &T Addd % ‘live better life’l
@ 39 HIYT H WS ‘konk’ TP forg WAt gl &:

® live
® |ife
® death
® better
Correct Answer :-life

87)

Question Stimulus :-

In the sequence shown below, which figure comes next? / e e 8 wu o SrTelt wﬁ P ot gift?



Correct Answer :-

88)

Question Stimulus :-

If Shanthi says, “Kranti’s mother Rambha is the only daughter of my father-in-law, Mithun,” then how is Latha, who is

the sister of Kranti, related to Mithun? / u’% wife ﬁ?ﬁ %, “shifd I ATAT IFHT A a3y, ﬁl?fr | Eﬁﬁ?ﬁ
I B, @ @y, <t wifa # 959 B, Ry A A "dfia @2

® Grand father / qlql

® Granddaughter / LIk



® Father / far

® Father-in-Law / IR
Correct Answer :-Granddaughter / Tl
89)
Question Stimulus :-
A + B means that A is the fatherof B/ A + BWW%%A, B%ﬁ?ﬂ%
A - B means that A is the motherof B/ A - B &1 Haas 3 f& A, B #1 Arar
A x B means that A is the brotherof B / A x BWW%%A, BW'H‘I%%
A / B means that A is the sisterof B/ A / B®TUdAd 8 [ A, BPI 981 ¢
A1 B means that Aisthesonof B/ AI1B®THIAd & {P A, B BT ICT &
A $ B means that A is the daughter of B / A $ B #THdad 8 f5 A, B #1 3¢ 8

If the relationship between D and C is represented as D / A + B x C, then, how is D related

toC? /URDINRCHFITFTHIYD / A + B x C | a1 9141 €, oY D, C ¥ A Hafdd 82
® Mother / HTdI
® Father / fOdT
* Aunt / 3fidt
® Uncle / 3®d

Correct Answer :-Aunt / 3fidl

90)
Question Stimulus :-

J is the sister of S. S is the sister-in-law of B. D is the brother of B. How is D related to J? / J, S @t ded %I S,B

@t uT*ft 31 D, B 3T W€ §1 D, J A HH Hafk 32
® Sister / dg
® Sister-in-law / HTH
® Daughter /qét

® Brother-in-law / éa?



Correct Answer :-Brother-in-law / %

91)
Question Stimulus :-

Which of the following is the mirror image of CRICKET? / fgaa I T CRICKET BT ETfUT ufafew %’

OKIOKEL

CEICKEL

CEICKEL

CKICEBL

CEICKEL

Correct Answer :-

92)
Question Stimulus :-

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word
will be: / 9 Uy ¥, Ugd Weg BT gW Aeg F WY ¥l UPR | HI$ Tay g1 A T Weg &1 N g &
1Y It YR BT JaY g1 18T, df DUT g SR

Newton : Force :: Bell : ? / ¢+ : d¢ :: qudl : ?
® Radio / YfEa
® Telephone / CRINIE
® Telegram / oA
® Telescope / W

Correct Answer :-Telephone / SdI®IH

93)
Question Stimulus :-

How many 5 digits numbers can be formed using the digits 1, 2, 2, 4, 2, 4?

3@l 1, 2, 2, 4, 2, 4 BT YA HId g fHa-l 5 3] Pt T@A3M BT far <1 g@dar 82

* 120



e 720

® 60

® 360
Correct Answer :-60
94)

Question Stimulus :-

CANCELLED

Meeta travels 4 km towards north and then travels 5 km eastward. She then travels 10 km rightwards, and then 3
km to the left and finally S km northwards. How far is she approximately from his original destination and in what

direction? / HIdT SWR P 3R 4 fHH g Hd) 8 3R by e Ft 3R 5 fope g wed) 81 a8 =
T SR 10 fEft amm Sl 8, 9k iR ol ok 3 it 3R ofa & IR Ft oIk 5 faweft| 9@ erorit
Irafae Hie A faet gt iR § ok forw famm & 32

* 8kmt0wardseast/§?§ﬂ%6ﬁ?8ﬁ7—m

® 15 km towards south/a'f&I'UT?ﬂGﬁTISﬁ?TFf

® 8 km towards south-east / af&rur-gg—q'aﬁ&ﬁ? 8 fodt

® 18 km towards south/a'm'l'UTHﬂGIh'lS%‘:ﬁ
Correct Answer :-8 km towards east / Jd &1 3% 8 fopet

95)

Question Stimulus :-

Malini travels 10 km towards south. He then turns left and travels 2 km and then turns right and travels 4 km and
finally travels 2 km towards the east. What is his position (in horizontal and vertical directions) with reference to

thestartingpoint?/ﬂmmaﬂ\?ﬁ?lomwmélﬁmaﬁm%ﬁ?mﬂm%
3R 4 fpHt arn et € 3R ofd & e Ft 3R 2 forrdt arn wdt 31 Suat fRAufa (&fost iR dwaa
fammaii ) emy fig & wed , ®n a2

° 4kmtotheeast,14kmtothes0uth/4%@3‘&@,3%3%@14%

° 14kmtothes0uth,4kmtotheeast/Eﬁ;I'UTHﬁGﬁT14%,%@@4%

® 18 km to the south, 14 km to the east / aferor @t 3R 18 ﬁ‘ﬂ:ﬁ, Waﬁ 3R 14 fo

® 18 km to the south, 8 km to the east / aféror &t Siv 18ﬁ‘75ﬁ,q333ﬁ 3R 8 fopt
Correct Answer :-4 km to the east, 14 km to the south / 4 fBHt Rd @I \?rh?, aféror &t e 14 fot



96)
Question Stimulus :-

Select the statement, which is the logical equivalent to the given statement. / 9§ ®Yd gﬁ'&

S 9% 1 =T A 33 T $Y9 F 99H 7

"It is not true that some dogs bark or some birds do not have feathers.” / "dg I qﬁ’r% &

7O T2 Ve ¢ o o ARG ¥ va T

® Some dogs do not bark and some birds have feathers. / P& ﬁ Wod qﬁ % MR 23] ﬁlﬁﬂﬁ > ug E-ﬁf
gl

® No dogs bark and all birds have feathers. /aﬁs‘ ot Q)J\'[ Wepd T-Iﬁ % 3N gt ﬁl’%’iﬁ & ug Eﬁ?f %'I
® Some dogs do not bark or some birds have feathers. / P& Q?J\'f T8t viwd a1 PO ﬁﬂ%’ﬁﬁ & UE Bid g

® No dogs bark and some birds have feathers. / @15 Wt o Hiwd T € iR oo fafsal & va g g1
Correct Answer :-No dogs bark and all birds have feathers. / @15 HI F<I {ida T8I g ik Tt gt &
99 g 7
97)
Question Stimulus :-

Select the statement which is the logical equivalent to the given statement. / dg Y i[ﬁl’&
St 9 @1 =TRe | A T FY= F 9uH g

I will need extra 'tuitions if I take up math or science / 'ﬂ@ aﬁhﬁﬁr&mﬁw ﬁ"ﬁﬂﬁ - |
TTforg a1 fag™ @ §|

® |f | learn math, | will learn science /'CI'I% A TforT &7 T ﬁ?, GIK:| ﬁiﬂ_"l' BT AT BT

If 1 don’t learn science, | won’t need tuition / Tfe # faRTT BT Sreqa= 7 B, aO) gt fRieor #Y smazawpar
T8l grft

If I learn math, 1 will need tuition / afe & TIOIG @1 Sreaa= &, al g fRieor i sra=awar et

None of the above is warranted. / $UR # ¥ fpft &t MRUd T-Iﬁ %I

Correct Answer :-If | learn math, | will need tuition /TI'% A Tforg &7 JrmaH aﬁ%’ a 'ﬂ@ QT&‘I'UT @t
STaggddl gt

98)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / a3 fawe g3
it & T YT ok frspuf & I & wet @



Statements: / ®Y:

Some whistles are mice. / $© Hifear 7@ 2
Some mice are lions. / $9 ij? W EI
Some lions are caves. / $© I THT |

Conclusions: / fA=pd:

i.Some caves are mice. / $S TWIU g &
ii.All whistles are caves. / 9t Hifear qwTe g1

® If only conclusion I follows / gfe Sad ey 1 Apadar %
® If only conclusion II follows / fe Faa faswd 11 feraar 8
® If both conclusion I and II follows / ?T% foreed 1 Gﬁ? II a:ﬁ ffread %

® If none of the conclusion I and II follows /ﬂﬁ ﬁl'mﬂf I C’rﬁ? n# a’ aﬁ'{' qﬁ Freadr %

Correct Answer :-If none of the conclusion I and 1I follows / f¢ s 1 SR 11 & & ﬂﬁé 81 fmadr

99)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 fa®e ﬂﬁ'&
i fad A HYET R fFrewef & aR F W8 §:

Statements: / $YH:
All fans are sockets. / I 4@ Tide gl

All sockets are jelly. / Tt Aidpe St B
All jellies are windows. / 9 Sieft f@sfear &1

Conclusions: / fAtsd:



i.All windows are fans. / 9 fQsfear v g1
ii.Some windows are sockets. / $© f&sfHal Aide B

® If only conclusion I follows /‘CI'% W ﬁwﬁf | ﬁlﬁ?ﬂ %

® If only conclusion II follows / af¢ Fad fsepy 11 fFreaar 8

® If both conclusion I and II follows / Tfg fArspd 1 3R 11 S fFiPpad &

® [If none of the conclusion I and II follows /'Clﬁ F"TW& I Gﬁ?' n# '\ﬁ ﬂﬁ'ﬁ 7'|'{& e %
Correct Answer :-If only conclusion II follows / Tf¢ Fad fased 11 frpadar

100)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / % fawe g3
i 33 T FyET R el & IR F 9 @

Statements: / $YH:

All numbers are prime. / 93 G&I¢ 37 g1
All primes are old. / I 31 A

Some olds are dead. / $© M Td 2|

Conclusions: / fAwsd:

i.All numbers might not be dead. / I¥ TWI¢ ¥d 78! 8 IHd|

ii.Some primes are definitely dead. / $© 31 Affq g ga H
® [If only conclusion I follows / afe Faq frsed 1 fwaar %
® If only conclusion II follows / TI'% W ﬁ'ﬁﬂf 11 ﬁWT %
® If both conclusion I and II follows / TI'% fsd 1 iR 1 aT'ﬁ IRETSG %

® If none of the conclusion I and II follows /?T% fremd | Gﬁ? nad aﬁs‘ T'I'E’pf IGEISGI %

Correct Answer :-If none of the conclusion I and II follows /ﬂﬁ foreed 1 \’rﬁ?' nad aﬁé qﬁ IREASGI






